Chromalox ConfideTtiaI Printed on 05/10/2016
5 4

8 7 6 | 3 | [ 052-122782-122]%" | | 1

| REVISIONS
[ zoNe T Rev | DESCRIPTION [ DATE [ DW ] CHKR [ ENGR | APWD

1/16

1716 ASME/CRN NAMEPLATE @

; (172) il
(20715) MINIMUM HEATER ——=
REMOVAL DISTANCE
15541/4 HOT OIL HEATER

ATTACHED TO ELEMENTS

1141/4

2X ¢1 X 24 SLOT

13241/4

18+1/4
TYP

20+1/4

RTD JUNCTION BOX
2 NPT ENTRY (TYP

12X 13" NPT ENTRIES

WITH
. 3 PLACES)

TAG NO.: HO—1000A

WIRING DIAGRAM @)

72 ELEMENTS, 12 CIRCUITS
75.3 AMPS PER CIRCUIT @ 480V/3PH
CONNECTION LUGS FOR 0-6 AWG CONDUCTORS

NOTES: NOZZLE SCHEDULE NOTE: PROJECTION IS FROM CENTER-LINE
Al NOM.
B0 [ WAF COUPLNG, TREADED 176 P, 000 z [Fe oo . ONE GROUNDING LU, PER CONDUIT OPENIG, 15 INCLUGED N HEATER TERMNAL 80K MARK|gige | WAL | 0D | RATNG | FAGNG | TYPE | PROJECTON | DESCRPTON
Tt T /2 15 RS e 3. CSA CERTIFIED FOR CLASS I, ZONE 1, IB+H2 HAZARDOUS AREAS (T3). 6" | 280 | e.625 | 3004 RF s0 18.0 INLET
: L 4. HEATER SHALL INCLUDE CRN FOR ALBERTA, CANADA.
— T 5. CORROSION ALLOWANCE: .063" (CARBON STEEL ONLY). 6" | 280 | 6.625 | 300# | RF S0 18.0 OUTLET
55 T NAMEPLATE. CHROMALOX, CSA T PC T ALUMINGM 6. IMPACT TESTING EXEMPT PER FIGURE UCS—66.1 (CARBON STEEL), FIGURE UCS—66 (FLANGE BOLTING), 34| 210 o5 ~ ~ NPT 120 DRAIN
54 | GASKET, 14"—300#, LOW-STRESS SPIRAL WOUND 1| PC_[ 304 SST WINDINGS, STEEL OUTER RING | FLEXIBLE GRAPHITE SEAL UHA=51(d)(1)(a) (STAINLESS STEELS), AND UNF—65 (INCOLOY 800). WELD PROCEDURES EXEMPT PER UCS-67.
53 | HOSE CLAMP, 65,/8°0D MAX, 5/16” WIDTH 68 | PC | 316 STAINLESS STEEL 7. GASKET FACTORS: M=3.30, Y = 5000 (LOW-STRESS SPIRAL WOUND). 3/4"| 219 1.703 3000# - NPT N/A AUX
52 | ELEMENT SUPPORT SPACER 8 | PC | 304 STAINLESS STEEL 8. INTERNAL VOLUME = 14.9 CU.FT. -
51 | WIRING DIAGRAM / ELEMENT BUS BARS 1 | PC | COPPER 9. FINISH: KEM HI-TEMP 850 (COLOR: NO. 15 CHARCOAL GRAY). 3/47| 219 1703 | 30004 - NPT 4.5 INSTRUMENT
50 | ELEMENT TERMINAL SEAL 144 | PC | RTV/ CERAMIC 10. DIMENSIONS IN PARENTHESES () ARE FOR REFERENCE ONLY. N
49 | FITTING, COMPRESSION, STRAIGHT 178" TUBE, 1/8° MALE NPT | 2 | PC | SA-182 F316 11. ALL SEAMS AND OPENINGS IN INSULATION JACKET SHALL BE SEALED WITH HIGH-TEMP RTV. 14| 375 140 | S00# RF so N/A HEATER
48 | RTD, DUPLEX, 3—WIRE, 100 OHM PT, 3/16” 0D 2 | PC | SA-213 TP316 12. BUTT WELDS SHALL RECEIVE SPOT RADIOGRAPHY (RT-3) MINIMUM.
1; ;li';‘sEIEON1Bg'>’<’ XEX;}?.S(;ON PROOF, WITH TERMINAL BLOCK g E(é (E;Zf\)/(:;égSTg?ESI__UMINUM 13. WEIGHT EMPTY: 2570 LB. WEIGHT HYDRO-TEST: 3500 LB. HEATER BUNDLE WEIGHT: 1200 LB. DESIGNED & CERTIFIED IN ACCORDANCE WITH
45 [ GROUND STUD, 1/#°—20 12 | PC | STAINLESS STEEL ASME BOILER & PRESSURE VESSEL (":ODE APPROVED FOR CONSTRUCTION
44 | HEATER TERMINAL BOX, EXPLOSION—PROOF T | PC | CARBON STEEL SECTION_VIII , DIVISION _1_, ("_U "STAMP)
45 | TERMINAL BOX MOUNTING PLATE 1 | PC | SA—240 304 EDITION 2015 , ADDENDA NONE BY:
42 | TUBING, .625" 0.0, .050° WALL, AS—WELDED, 15.5° LG | 144 | PC | INCOLOY 800 :
41 | HEATER ELEMENT, .475°0D, .028" WALL AS—WELDED 72 | PC | INCOLOY 800 357 Hggllg::SOTF/Q\TICZBESTMINUTES DATE:
40 | FLANGE, RF_BLIND, 14’—300¢ 1 | PC | SA-105 i I__ I__ 12 __1 _337 20 - SERIAL NO:
1 e BRAZE — TYP
26 | INSULATION, BLANKET 1| PC_| HIGH—TEMP FIBERGLASS . W DESIGN DATA oPROVAL DATE.
25 | INSULATION JACKET T | PC | CARBON STEEL /16 (59) . USER DATA Al :
24 | RTD, SINGLE, 3-WIRE, 100 OHM PT, SPRING—LOADED T [ PC | 316 STAINLESS STEEL HEATED MEDIUM: SYLTHERM 800 UNITS
25 | THERMOWELL, :;:ZAF’EFfC[)éNB/V NPT : ig gle 25::n;;ass STEEL THERMOWELL CRN: OF12718.52 LE;:A:\(;.NS;J'I::;/S\E;E: Y1E9SGDP3::;0($WP) MIN. FLOWRATE: _ 0, LB/HR
22 | NAMEPLATE, = : '
21 | NUT, HEAVY HEX, 1-1/8"-8 40 | PC | SA—194 2HM EXTERNALMAWP _ N/A PSIG MAX. FLOW RATE: 145,840, LB/HR
20 | STUD, THREADED, 1-1/8"-8, 7.5" LG 20 | PC | SA-193 B7 PROCESS DESIGN TEMP. 752 °F OPERATING PRESSURE: 50  PSIG
. X T): _—25.6 °F - o
10 | PIPE PLUG, THREADED, 3/4° NPT, 3000f T [ PC | SA-105 MIN. TEMP. (MDMT) OPERATING TEMPERATURE: _716 _ °F
9 [ PLATE, 1/2" THICK 6 | PC [ SA-516 70N UNLESS OTHERWSE SPECFED, | CONTRACT NO ®
8 [ PIPE CAP, THREADED, 3/4" NPT, 30004 1 | PC | SA-105 / \ CRAZE - TP %Aér;il’?&ss:«:;im INCHES. Ch romalox Ogden, Utah 84404
7 | FITTING, THREADOLET, 3/4° NPT, 30004 2 | PC | SA-105 ELEMENT @) FRACTIONS  DEGMALS  ANGLES www.chromalox.com
6 | FLANGE, RFSO, 6'-300f 2 | PC | SA-105 | B N #1/8 xzo0 k2 [T
5 | FLANGE, RFSO, 14'—300¢ 1 | PC [ SA-105 v A ; VATERIAS LS PPROVALS AT CIRCULATION HEATER, O||_, ASM E, CRN
4 | PIPE CAP, SEAMLESS, 14" SCH STD 1| PC | SA-234 WPB 1/16 — 7% ELEMENT STICK—UP (TYP)
5| PIPE, SEAMLESS, 3/4” SCH 160 1| PC [ SA-1068 % SLEEVE STICK-UP (TYP) ow JOH | 5/10/2016 |  NWHOI-72-750P—E2XX, 480V, 750KW, 12—3PH
2 | PIPE, SEAMLESS, 6”"SCH STD 2 | PC | SA-106B ™ 4 FINISH cHkR  AYN 5/10/2016 R R
IT;M PIPE, SEAMLESS, 14’ SCH STD T | PC | SA-106B e JDH | 5/10/2016 147-3004 W/ 6"-300# IN/OUT, CARBON STFEL
- SIZE | CODE IDENT NO [ DRAWING NO REV
NO. DESCRIPTION QTY [U/M MATERIAL REMARKS STAND-OFF DETAIL THS DRAVING WD THE SUBECT | sevo RPW | 5/10/2016
BILL OF MATERIAL VY BE PROPRETRRY. N cof 2275981 D10/1311052—-122782-12210
BARTOS  ESPRESSLY FoRBIODEN. SCAE 1:10 [DO NOT SCALE DRAWING[steer 1 oF 1
8 7 6 t 3 | 2 | 1




